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Which among the followings is a contrast?

%7 & & 9 A7 UF Feree 872

A

B

C

D

3T1+T2-3T3+T4

T14+3T,-3T3+T4

-3T1-T2+T3+3T4

T1+To+T3-Ty

If X has binomial distribution with n=3 and pz%, then what is the value of E (

Zl'i:c{n:SSﬁ'{p%%w@lx@qﬁéﬁéﬁE(ﬁ)qﬂWW@Tﬁ?

X

X

)?
+1

A B C D
43 47 49 51
108 108 108 108

In a continuous frequency distribution of a variable each class interval has equal width 10. The
class interval 40-50 has maximum frequency 20 while the frequencies of its preceeding and
succeeding class are k and 12 respectively. If mode of the distribution is 45 then value of k is:

U 9L % Taq aTFTdT g 4 TdF 997 Avd <1l U THT

10 T AT T@AT 8. a3 Feqare

40-50 FT ITFATIAT AT g AT T8 20 § AaTeh THeh S1h Tgel 31T JT& o a3 sl aTeaT<ar HHeT:
k 3T 12 2. If< e &1 agas 45 g1 af K &7 9149 &

A

B

C

D

12

15

10

8

Geometric mean and range of height of two plants are 20 cm and 9 cm respectively. The
arithmetic mean of height of plants is:

ZT HTET % AFaT T T 978 Ua Feaqre waer: 20 §HT 3% 9 FHT g, 9Tl o aFaTe il q97wa<

ATET &
A B C D
20 20.5 21 21.5
If a random variable X has the following probability density function
fx)=2x ifo<x<1
0  otherwise.
then expectation of 4X+3 is
T2 Ts Arg=a® T X T ATRFAT Fa4d Fed
fx)=2x AR’O<x<1
0 AT,
T AT 4X+3 Y s 8;
A B C D
17 8 -1 15
3 3 3 3

Let first and third quartiles of a data set are 30 and 75 respectively. If coefficient of skewness of
the distribution is 0.6 then below which value of data set about 50% of the observations lie?

AT o o6 U STet % 99 & T 3T JATT FqHF A
T 0.6 & AT SHST % g o (el T & A= AT 50% THE 5§72

30 3T 75 §. I ded &1 feowar

A

B

C

D

36

50

39

35
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7 | The success rate of hitting a target by a shooter is 80%. If he attempts to hit a target then what is
probability that it will be hit first time in 4t attempt.
U HATaTs g e A T G%aar  80% g. TTS A U A& T Wae T TIATH FL T F97
ITRRaT 2 T a8 =19 9me § & 7 Igell a1 9E 9r?
A B C D
0.64% 6.4% 0.064% 64%
8 | Let A and B are two events with P(AUB)=0.80, P(A)=0.5 and P(only A)=0.4. What is ratio of
P(B):P(only B)?
A o & A 3T B T "eqtv 5w P(AUB)=0.80, P(A)=0.5 3fiT P(Fae A)=0.4 3. qqTd
P(B):P(za< B) 4T 87
A B C D
4:3 3:1 1:3 3:4
9 | A bag contains X balls out of which 3 are red and remaining balls are black. Three balls are
selected one by one by without replacement method and probability of selection of a black ball at
third draw is 40%. The value of X is:
UF IT T X e g FoH I AT 37T A AT 2. I s Teh Uk e (AT e &
TRTET SITT € 3% AT a1 § U AT 4& o (ehere sl STashar 40% 8. X &7 |41 &
A B C D
10 7 8 5
10 | If mean and variance of binomial distribution are 56 unit and 16.8 unit? respectively then mode of
the distribution is:
Tfe f3ae e & ATed 3T THIT FHAL: 56 THTS ¥ 16.8 THIS2 T Al S T 9gd o,
A B C D
56 unit 55 unit 24 unit 23 unit
56 THTS 55 THTS 24 THTE 23 THTS
11 | The mean and variance of five observations are 4.4 and 8.24 respectively. If first three
observations are 1, 2 and 6 then mean and variance of remaining two observations are:
T THAT  HTET 3T T FHA: 4.4 3T 8.24 8. I T i 9% 1, 2 3f¥ 6 g T AT T
THT o HTET AT THLT FHT: &
A B C D
6.5 and 6.25 respectively | 7 and 6.5 respectively | 7 and 6.25 respectively 6.5 and 5.25
6.5 31T 6.25 Fae 7 #I¥ 6.5 T 7 31T 6.25 Fad respectively
6.5 3T 5.25 Fae
12 | Marks of students of a class are normal with mean 40 and standard deviation 10. The ratio of
marks of students in class who obtained less than 30 to more than 50 is:
T AT o GIAAT o el T [EAa<or 917 40 i TE0r 10 % |7 THHT 8. FAT § 30 o F 7/
T AT BT &7 50 & STTAF 30 I ATl 11 F ST &
A B C D
3:5 1:2 2:3 1:1
13 | If A and B are two independent events such that P(A)#0 and P(B)#0 then which of the following is

incorrect?

IfT A 3T B &7 T IeATY, TH T & 1o P(A)#0 ¥ P(B)#£0 AT H9 § | &I 9T g2
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A B C D
A and B® are independent A® and B are A® and B® are A ande?(ca:[;ir\r/lgtually
A 3T BC Tad= g independent independent
AC &ie B T & AC s BC ware & AWBE‘?””““
14 | Let X is a continuous random variable with distribution function F(x). If Z=F(X) then variance of

Zis:
AT o T X, d27 B F(X) FTAT T qad A1ggH 9% 8. s Z=F(X) TT Z FT T9I07 2

A B C D
1 1 1 1
2 6 11 12
15 | A population consists of 100 units. A sample of size 4 is to be drawn by systematic sampling. If
unit number 5 is drawn from first group, then other units in the sample will be:
UF GHTE H 100 THSAT &, FHAAA AT H 4 AR HT Th TA@9l A7 ST 2. I TI]/ a0 8
THS A9 5 FAWT g qT Taael i T+ TH1AT I
A B C D
30, 55, 80 25, 55, 80 25, 50, 75 30, 50, 80
16 | If X is binomially distributed with parameter n and p then variance of Y=n-X is
TfZ X 9= n &Y p & 39 sfeq g v Y=n-X &7 9207 ¢
A B C D
np(1-p) np n[1-p(1-p)] n(1-P)
17 | If the three stratum size are in ratio 3:4:5 and a sample of size 120 is to be drawn by using
proportional allocation then the units to be selected from first, second and third stratum will be:
T AT & FT AHT 3:4:5 % AT | g 3T 120 SATHTT FT U (@9l AT [5aqeor &
TANT 2 g FAT ST g T 47, T3 3T Jatar &a2 & 47 TAT T a1 g
A B C D
30, 40, 50 30, 50, 40 40, 30, 50 30, 60, 30
18 | Which of the followings will be the degree of freedom of test statistics F in a randomised block
design with 5 treatments and 30 plots?
30 T 3T 5 ITAT ATl AT =0 @€ ATHFHT H F G0 SheAah HT Tarq=d &< Hataiad
| AT 31 Tl 82
A B C D
(4, 24) (5, 30) (4, 20) (4, 25)
19 | The outcomes of an experiment classified as success A or failure A® will follow a Bernoulli
distribution if:
ToReT STTIS=T o TR FRAaT A ST EhRAar A H aied g af ag aqidl aed g I1a:
A B C D
P(A) remains constant
P(A) =0 P(A) = P(A) = 1 in all trials
P(A) T9&T TR |
P vgar g
20 Consider following function:

Page 4 of 24




0 ifx<0
X+1

F(x) = — ifo<x<1

1 ifx>1
Which of the following statements are always true?
S1: F(X) is cumulative distribution function of some random variable X
Sz: P(X=0)=0.5
Ss: P(X=0.5)=>
Choose the correct answer from the following:

rferfera wew ow o=

0 ifx<0

F(x) = % ifo<x<1

1 if x =1
ferferera ot | & Fi gea 951 272
S1: F(x) Tereft mfafegs =12 X &1 d=T ded %ad .
S»: P(X=0)=0.5
Ss: P(X=0.5)=>
Aeforfed ® dsf 3w .

A B C D

Si1and S are true but Sz S, and Sz are true but | S; and Sz are true but S, S1, Sy and S; all are

is false Sq is false is false true

SL TS, Tel g AT S3 | S, AT S @al g oAt | Sp 3f¥ Sz Aer g Ao | Sy, S, ST Sz OT wat

TAT g S, TAq 8 S A & g

21 | If x,y, z are all positive, then the value of xyz for z* = x,z¥ =y, y¥ =xs:
T2 X, y, Z THT IATHE & T Xyz FTAME, TR 28 =x, 2 =y, y¥ =xg ad
A B C D
4 8V2 1 2
22 2X—1 4_2X+1

Value of x satisfying T =64 is:

2X—1'42X+1 .

X T |, ST i = 64 FT HIE FLAT g g

A B C D

1 2 0 1

23 | For what values of ‘k’, the roots (a, B) of the equation 2x? + 6x + k = 0 satisfy the condition

x B .
-+ - <2
B a
k % foFer 9T % forw, |ereRer 2x2 + 6x + kzo%w(a,ﬁ)ﬁ'ﬁwl‘raﬁrwmﬁ:%+g <2

A B C D

k>0 1<k <3 2<k<3 k< 0

24

Value of x satisfying:

x+logqy (1 + 2*) =xlogqy5 + logy(6 is:
X T HI, \_Tﬁ- X+10g10 (1 + ZX) =X 10g105 + 10g106 Eﬁ' W dT %:
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A B C D

1 2 4 1

25

A glass weighs 2% times that of an empty glass when full of milk. If the weight of a glass full of
milk is 250 gms. Then the weight of the empty glass is:
U TATH, TT3 g | AL ¢ af Grefl 778 F T A7 937 8 | T2 g T 92 I A7 918 250 IH g

TS GTAT TATH T qAT F4T &
A B C D
100 gram 71.25 gram 71.43 gram 350 gram
100 = 71.2599 71.439mH 350 ITH

26

A train of unknown length crosses two platforms of L; meters and L, meters in t; seconds and t,
seconds respectively. Then the speed of the train V; is:

Ue o, foraeht s A 8, A Cewg S qwErs Ly Hied T L, Hled 78, IRty A t, G |
FHLT: T AT g aF 2 &l TV, &

A B C D

LiLz = i i — i i:l L1t1 + thz = V — ﬂ
Vi t1+t2 L1 + Lo B t1 + to Vt ! Vt t1—t2

27

In a ward-robe, Nitish has 3 trousers. One of them is black. Second is blue and third brown. In this
ward-robe, he has 4 shirts also. One of them is black and the other 3 are white. He opens his ward-
robe in the dark and picks out one shirt-trousers pair. What is the probability that neither the shirt
nor the trouser is black?

U AR |, Tdter &t 3 aaeT g, 5o e aretl, gL Avetl, T dra<l 30 8 | IHT I\ iy # 4
FHrer off € FFH & U F1e(t T 19 T § | SA STUAT ATHT | F U F FHIS FT ST AR |
SET FAT TTAHAT & T T qr HHIST T 5 TaqT Al 3

A B C D
1 1 1 1
12 6 4 2
28 | What should come in place of the question mark in the following number series?
o 2oft & wo1 e & (?) =29 92 AT g T |
12, 15, 36, ?, 480, 2415, 14508.
A B C D
115 109 117 121
29 | Simplify (F¥<t Ffw)
6a"2bc 3 , 5a—3p2c~!
4ab—3c2/ 3ab—2c3
A B C D
9 9 9 9
— _ -1 . -2 o -3
1Oac 10ac 10ac 10ac
30 | A girl of height 90 cm. is walking away from the base of lamp-post at a speed of 1.2 m/s. If the

lamp is 3.6m. above the ground, find the length of her shadow after 4 seconds.

T Agehl, SEet FATe 90 & Hiex g, UH JvIqIee & g | 1.2 Hied/qshe &f T & gL ST
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T2t g | AT ¥ FHIT | 30 Hiex JU% § T ASh! 0l ST il AFTs, 4 Hohe & 912 74T g7 |

A B C D
8 meter 1.6 meter 2.8 meter 2 meter
8 Wiex 1.6 Hrex 2.8 §iex 2 fex
31 | From a point A on a bridge across a river, the angles of depression of the banks on opposite sides
of the river are 30° and 459, respectively. If the bridge is at a height of 9m from the banks, then
the width of the river is:
U Jal & UL T & U fag A | &g o, 77 % T4 A #7300 7 450 g | 7w 9
et & 19 Hiex AT & a9 74T T JE=TE 8
A B C D
9(v3+1) 9(v6 +1) 18 9(v3-1)
32 | y is the geometric mean of x and z; (y+z) is the arithmetic mean of (x+y) and (z+x). If X, y, z are
distinct, non-zero numbers, then y/x is:
y TTE X T 2 FT SATTHIAH AT g, (y+2) TS (X+y) T (z+X) T FFIC0T AIET 5 X, Y, Z TAT ST
ST LT Aol © a9 y/X FHT A &
A B C D
1 -2 -1
. 2
33 | A man, a woman or a boy can do a job in 20 days, 30 days or 60 days respectively. How many
boys must assist 2 men and 8 women to do the work in 2 days?
U ST, Ad o U ASHT U 1H 20 fa7, 30 fa7 a1 60 faq § F°ed g | 99 I 2 AeHT 7 8
A ag F19 2 oF § FA7 A1gd 8§ a9 Foha= Al 6l sTed gl |
A B C D
2 1 0 3
34 | A train running at 25 km/h takes 18 seconds to pass a platform. Next it takes 10 seconds to pass a
man walking at the rate of 7km/h in the same direction. The length of train is:
U o, 25 oheTHieT Jfa =er &if T & U Tehid w18 Fohe | 91T w3l g | T ag v sradT
T ST 7 TR Te I ser &t T & AT Q97 § 97 T@r 5, T Fed § 10 T Al g ad of =l
THETE &
A B C D
50 meter 60 meter 40 meter 55 meter
50 Hiex 60 Hiex 40 Htex 55 Htex
35 | The inequality |z — 4| < |z — 2| represents the region:
TE ATHHT |z — 4| < |z — 2| T & & fF@Tdl &
A B C D
Re (2)=0 Re (z)<0 Re (z)>3 Im (z)<0
36 | Let n be a positive integer such that sin ;—n + coszﬂ—n = ? Then
f% n T T O §E4T & 9 sin -+ cos - = g | aa
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A B C D
6<n<8 4<n <8 4<n <8 4<n<8
37 | If the line "2—1 = % = % and ? = % = ? intersect, then K is:
A% Y = = 10 = IS g 2 = 8 = S & et & AT KT A 2
A B C D
-1 E 2 0
9 2
38 | An unbiased die with faces market 1, 2, 3, 4, 5 and 6 is rolled four times. Out of four face values

obtained, the probability that the minimum face value is not less than 2 and the maximum face
value is not greater than 5, is then:

U 9TET Sk ad 92 1, 2, 3, 4, 5, 6 a7 g, 4 I %l S1qT & | 99 39 4 /T §, 98 ITEewar
T FH |, 2 § 77 A5l g F G99 ATF 79 5 IT 761 & F7 8

A B C D

16/81 1/81 80/81 65/81

39

The radius of the circle in which the sphere x? + y? + z% + 2x — 2y — 4z — 19 = 0 is cut by the
plane x+2y+2z+7 = 0 is:

g T T 50T, ST I x2 4+ y2 + 22 + 2x — 2y — 4z — 19 = O Fl AHAA x+2y+2z+7 = 0 &
ETT el STl & 47 &

A B C D

4 1 2 3

40

Let : R > R, g : R>R and h : R—R be differentiable functions such that f(x) = x3+3x+2,
g (f(x)) =xand h (g(g(x)))=x for all x € R. Then

I ®@9 f: R > R, g : RoR @ h : RoR #a&add ®aq g sarh f(x) = x3+3x+2,
g(f(x)=xaTh (g(g(x)=xaTNMF T x € RAT

A B C D

g(2)=1 h'(1) =10 h(0) = 1 h(g(3)) = 36

41 | The roots of x2—px +q = 0 are reciprocal to each other if:
73 FHET x2-px +q = 0 F AT T () ATH H TFH AL 6 A g a4
A B C D
p=-1 q=1 P=q p+tq=0

42

In the Argand plane, |z—:| = 4 represent:

UF AEE q0aa § |2—:| = 4, TATATE:

Pair of distinct lines Circle A pair of coincident Straight line
T TN ATSAT T SIS EN} lines Frefr T
HHTT ATSAT AT ST

43

In a test of 10 multiple-choice questions of one correct answer, each having 4 alternative answers,
the number of ways to put ticks at random for the answers to all the questions is:
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TS F2 AT TN H UF Tl IAL & ATed, 10 T % 28 | g2 97 % 4 foweq o 99 1 a0, 39
AT o AT SFFAAT: T H o e o forw F/aw g

A B C D
410 10* 410 — 4 10* — 10
44 | The sum of the series 20C, + 20C;+ 20C,+.... 20C4 Is:
Ut 20C, + 20C;+ 20C,+. ... 20C;o FT T &
A B C D
20 19 1 1
2 2 219 + 2. 20Cyg 219 - 2. 20Cyg
45 | The line x sin @ —y cos a = 0 touches the circle x? + y? = a?. Then
IR ¥@T X sina —y cos @ = 0 T x% + y? = a? &l T FAT g qa:
A B C D
a e [_;’;] a € [0, ] a € [-m, ] a is any angle

46

The equation of a tangent to the parabola y? = 8x is y = x+2. Then point on this line from which
the other tangent touches the parabola is perpendicular to the given tangent, is:

TAAT y? = 8x T TAAT @ il FHIHI y = x+2 § T dg 165, 37 @T 97, s aqq .
AT Tqefl, ST &F T #qeff T@T 9% FF=ad g, g

A B C D

(2,4) (-2,0) (-1,1) 0,1)

47

Let f (X) _ loge (1+ax);loge(1—bx)

continuous at x = 0, is:
T f (x) = 2B UH0—loge U0 - ¢ o O q@ T £ (x) F¥ x = O 7% HT FAT SR FTATF FoAT x

X

, X # 0. Then value to be assigned to f (x) at x = 0 so that f (x) is

= 0 9L HAA
A B C D
a-b a+b log, (ab) Nor]e ofthese‘
TAH | A TRl

48

Let [4] = [b| =1 and |3+ b| = V3 . If € be a vector such that ¢ —3 — 2b = 33 x b then value of
|BxDb)x¢:

e % |dl = [p| =179 |a+b|=V3 AR T ERaTTTF i-d-20=3dxb T
|(@ x b)x &| &7 71 2

A B C D
V21/2 V21 V31 V21/3

49

A and B are two independent events such that P (A" N B) = % andP (4 n B) = é then P(B) is
equal to:

IfT A 3T B &7 F9q =210 g stateh P (4’ nB)=%a’P(A n B')=%E|TerP(B)Eh‘r1=rl‘rr€MT:

A | B | C | D
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4 1 1 5
5 12 5 6
50 | The Iine%z%z?lies in the plane 2x — 3y +z = 10 if A is.
7% am, = = L2 = 22w mwae 2x - 3y +z = 10 T § T A FT A 26
A B C D
Any real number
-5 0 > S ATEq AT T&aT

There is certain relationship between two given words on one side of : : and one word is given on
another side of : : while another word is to be found from the given alternatives, having the same relation
with this word as the words of the given pair. Find correct alternative. (Questions 51 — 52)

Ao o § 37 oreaf H ST ;% UH aTh & 9 UF O a3F g a7 U (a0 70 faheq § & gqEr 8, o
THIE g, SET THT T STET (o6 Q0 M0 SIS H g THT dgl (oo aaratr | (37 51 — 52)

51 Fear : Threat : : Anger : ?
A B C D
Compulsion Panic Provocation Crystal
52 Legend : Story : ; Merlin : ?
A B C D
Hawk Eagle Crow Parakeet
53 | A group of three interrelated words is given. Choose a word from the given alternatives that

belongs to the same group.

U ATIH H THITEq 9real T T @37 747 g {0 10 GweT § uF ez T S 36 9 § qeateq
R

Ohm : Watt : Volt

A B C D

Light Electricity Hour Ampere

54

Choose that set of numbers from the four alternative sets, that is similar to the given set?

% w1 7, fRU 7 = " & Gwedl § 9g "e T S 3T 0 HE % 90 3

Given set : (14, 23, 32)
o T |12 (14, 23, 32)

A B C D

15, 23, 31 14,19, 24 13, 21, 29 12,21, 30

55

Four groups of letters are given, out of which three are alike in a certain way while one is
different. Choose the odd one.

% o H, I g9 H srew Rw U g e @ T q91 8, TSI ST § 9 M

A B C D

RNJH SOKG QMIE MIEA

56

Choose the term which will continue the following series:

e Soft 7 ofq @ o foreg Y g 7w o s
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P3C,R5F T8I, V12L?

A B C D

Y170 X1/ M X170 X160

57

In the following letter series, some of the letters are missing which are given in that order as one of
the alternatives below it. Choose the correct alternative.

o T, g TE s AT AT F a9 UFH g, ISTFAH &

a - bbc - aab - cca - bbcc

A B C D

bach acba abba caba

58

In a certain code, TRIPPLE is written as SQHOOKD. How is DISPOSE written in that code?
et AT9T ®, TRIPPLE #T T SQHOOKD &, @& DISPOSE T &€ F4T g

A B C D

CHRONRD DSOESPI ESJTPTF ESOPSID

59

In a certain code, RIPPLE is written as 613382 and LIFE is written as 8192. How is PILLER
written in that code?

I RIPPLE #T #i< 613382 T LIFE #T 8192 d« PILLER T &7 &:

A B C D

318826 318286 618826 338816

60

If eye is called hand, hand is called mouth, mouth is called ear, ear is called nose and nose is called
tongue, with which of the following would a person hear?

I &AM &7 ZTT Fig, BT I Hg, Hg Fl HIF, HT & A1 T AT &l S a9 Hle AUl he

g :
A B C D
Eye Mouth Nose Tongue
AT Hz GlED st

61

In a certain code language, ‘put tir fin’ means ‘delicious juicy fruit; ‘tie dip sig’ means ‘beautiful
white lily’ and ‘sig lon fin” means ‘lily and fruit’. Which of the following stands for ‘and’ in that
language?

T Tl ATUT |, “put tir fin’ FT AIA ‘delicious juicy fruit; “tie dip sig’ FT < ‘beautiful white
lily” T “sig lon fin” FT &1 “lily and fruit’. T ATIT H ‘and’ FT FAT 37 &

A B C D
lon sig fin Nope ofthese.
TTH | IS Tol

62

Lakshmi and Meena are Rohan’s wives. Shalini is Meena’s step-daughter. How is Lakshmi related
to Shalini?

TEHT F HIOTT g ol TAT g ITTerAT HIOIT 0T HIAe(T Sef g ad A&HT T AT T & FAT TFeeel &

A B C D
Sister Mother-in-Law Mother Step Mother
RS qrg at CIGEIR I
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Read the following information carefully and answer the questions given below:

A5 =T A @ E 92 T W A S A |

There are six children playing football namely A, B, C, D, E and F. A and E are brothers. F is the sister
of E. C is the only son of A’s uncle. B and D are the daughters of the brother of C’s father. (Questions
63 — 65)

. 9gA B C D ETFFFea@ua e |ATENTE g | F, EfF a8 8 1 C, A% ATAT &7 THaATdT el

2| Ba D, C & fuar it wrs &t afe=rt 8: (1°7 63 — 65)

63 | How is C related to F?
C T F & #F7 ReaT &

A B C D
Cousin Brother Son Uncle
EELUEIES LI EEA =T
64 | How many male players are there?
oo &9 [Tt &
A B C D
One Three Four Six
TH LIk ]R8 Ex
65 | How is D related to A?
D T A & 4T XeaT 2
A B C D
Uncle Sister Niece Cousin
=T EERal Tefrfi T AT
66 | Q’s mother is sister of P and daughter of M. S is daughter of P and sister of T. How is M related to
T?
QfiHl, PR agaeaMBMAA IS, PR IT T TR aga 2l da M, T & a7 g8 2;
A B C D
Grandmother Father Grandfather None of these
T o et T & TS LY

Read the following information and answer the questions (67 — 69) that follows:

T =T &1 79 & 927 9 4T (67 — 69) FT a9 &l

() Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre.

. 2T A, B, C, D, ETF UF AqTHIT | 95 § g o ATAA |

(i) Eistothe left of D
E,DFIMTZ |
(iii) C is between A and B.

CAFBHA=THEI
(iv) F is between E and A.
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FETAFTSTTEI

67 | Who is to the left of B?
B % AT %I &
(a) (b) (©) (d)
A C D E
68 | Who is to the right of C?
C % 270 FI9 &:
(a) (b) (©) (d)
A B D E
69 | Which of the above given statements is superfluous?
T U U FAAT § & T 4G A7
A B C D
(i) (ii) (iii) (iv)
70 | One morning after sunrise, Vikram and Shailesh were standing in a lawn with their backs towards

each other. Vikram’s shadow fell exactly towards left hand side. Which direction was Shailesh
facing?

U Hag AT & are, [FwA T deter UF i H UF gHY A a7 T w2 @9 g o i mrn
T & & AT qTF ¢ a9 drerer e fem & | o |

A B C D
East West North South
LC] i I Fferor

71

In a row of 21 girls, when Monika was shifted by four places towards the right, she became 12"
from the left end. What was her earlier position from the right end of the row?

21 AETHAT T TF FATL |, ST HIHHT a5 qLF AT T4 FAeqriua 7 T2 a9 a8 ar0 & a 1247
fT T SHHT g TATH, FATE o a5 a<h o F4T AT |

A B C D
o 120 110 147
9=t 124t 11at 141

72

If A means ‘plus’, B means ‘minus’, C means ‘divided by’ and D means ‘multiplied by’, then
18A12C6D2B5="?

A FT 302 TR, B T 52T, CHTART AT, DRI g aa 18 A12 C 6 D 2 B 5 =? T A #T &

A B C D

15 25 17 45

Study the following information carefully and answer the questions (73 — 77) given below it:

T =T T &9 | 927 9 W4T (73 — 77) &7 S af |

(i)

P,Q, R, S, T and U are six members in a family in which there are two married couples.

P,Q,R, S, T, U U& qiam # & @aeq g oaH & d19 amdieer e 2 |

(i) T, ateacher is married to the doctor who is mother of R and U.
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T U TeaTas foreeht Tl UF SiFe H g 8, SMRIU AT AT 2 |

(i)  Q, the lawyer is married to P.
Q UFThIA A AETPHEE B |
(iv) P has one son and one grandson.
P&l U T 9 UH Irav & |
(v) Ofthe two married ladies one is a housewife.
ZT QTTETSIET Sied | &, U geft areft g |
(vi) There is also one student and one male engineer in the family.
IE | U 219 9 U @9 S «a7 AT g |
73 | How is P related to R?
P, R ¥ %y wresiferg &:
A B C D
Grandfather Mother Sister Grandmother
TTaT At ERul G
74 | Who among the following is the housewife?
9 & ¥ #i [gedt a9 &
A B D
P 0 S Norle of these~
TTH | IS Tal
75 | How is R related to U?
R, U & ¥ g TeqT g
A B C D
Brother Sister Brother or Sister None of these
e T RIERIEES] TH F TS A
76 | Which of the following represents the group of females in the family?
9% & & =1 |71 T 9REw | "igavst 77 8
A B C D
PSR PSU QTR Data is inadequate
ST ATATH ©
77 | Which of the following is true about the grand-daughter in the family?
e ® & qRETT it Tt & 91 | F7 96l @
A B C D
She is a lawyer She is a student She is an engineer Data is inadequate
TE TF Tl § T TF GATE TE T AT 2T AT §
78 | A student, got twice as many sums wrong as he got right. If he attempted 48 sums in all, how

many did he solve correctly?

T T o A" 7 A5l o6 S8 G T9d g T(3 T I 48 T ToAq o, 7 I8 fohael T
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I

A B C D
12 16 24 18
79 | Rasik walks 20 m North. Then he turns right and walks 30 m. Then he turns right and walks 35 m.
Then he turns left and walks 15 m. Then he again turns left and walks 15 m. In which direction
and how many metres away is he from his original position?
T 20 Hiex 39T & &l¥ 747, a9 98 0 ah JeT F 30 Hiex Fo1 6 ag 210 =7 T 35 Hiex
AT oY 9 a0 =T 7 15 Hiex =arT, he 98 a1d g7 7 15 e a1 a9 a8 & &= & fhaar
TAFT RATHE:
A B C D
15 metres West 30 metres East 30 metres West 45 metres East
15 #iez afas 30 Hex 7@ 30 e uferw 45 Hax qd
80 | Ina class, there are 18 boys who are over 160 cm tall. If these constitute three-fourths of the boys
and the total number of boys is two-thirds of the total number of students in the class, what is the
number of girls in the class?
U FAT § 18 =eh, 160 HEIHTeT | FATET ¥ g, AR a8 A ASH & I AITS g T T ASHI
T HEAT FEAT H T agl ol &I (dgls & ad HeAT H ASIhAT %0l F4T GE&AT &
A B C D
6 12 18 24
81 | Which of the following option(s) is / are not true?
fuku e I dku Bk / L fodYir IR; ugh g\
()  There is floating island in the Prashar lake.
RIER 3frd § dvar (Ferar fewarn) g 2
(i) The Sareulsar lake is situated at the top of Jalori pass.
TR 3Na Sl ¥ @ Rrer w® Reaa 2
(iii) The Pabbar river originates from the lake Chanderkup.
ilcj unh dk mnxe LFky "pUndi* >hy gA
(iv) The Mantilai lake is source of the Bhaga river.
"Hkxk* unh dk mnxe "eurykb® >hy I gkrk gA
A B C D
(iii) and (iv) (i) and (iii) (i), (ii) and (iv) (i) and (iii)
(i) vkj (iv) (i) vkj (iii) (i), (i) vkj (iv) (i) vkj (iii)
82 | Select the wrong combination from below options.

futu fodYik er I xyr fodYi dk puko djA
A. Renuka lake (Sirmaur) : Jamdagni

Ji.kdk >hy fhjekj ¥ tEnkfXu
B. ManiKaran (Kullu) : Markandey
ef.kd.k dvYy i ekd.M;
C. Vyas Gufa (Bilaspur) : Sage Vyas
03kl xQk feyklij S &N
D. Nirmand (Kullu) . Parshuram
fujeM dYy YRR
A | B | C D
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83

Which of the following statement(s) about ‘Trigarta’ is / are not true?.

f=xr. di ckji el fuku e I dku Bk / I dFku IR; ugh g\

()  Panini called ‘Ayudhajivis’ to the dwellers of Trigarta area.
f=xr {k= e jou oky: ykxk dk wkf.kuh u vk;/kthoh uke fn;kA

(i)  Trigarta was founded by Susharma Chandra.

gt "< 3 2rrd #) eruEr @)

(iif) Trigarta denotes the region drained by three rivers, the Ravi, the Chenab and the Beas.
rard @1 aref @ 19 Afedr ), fmme Sk «ara g fAfifa s 89

(iv) Trigarta is the oldest princely state in Himachal Pradesh.
f=xr fg0 10 dh Ecli ikphu fj;klr gA

A B C D
(i) only (iv) only (i) and (iv) (i), (ii) and (iv)
doy (iii) doy (iv) (i) ki (iv) (i), (i) Vkj (iv)

84

Match List-1 and List-11 and select the correct answer from the codes given below.
Iph&I vkj Dph&II dk feyku dji vkj uhpi fn, x, dvk e I Igh mRrj puA

List-1 (1jph&])

List-11 (1ph&l)

(i)  Chitkul (Nrdy)

(@ A living geological museum
thfor HoKkfud Bxgky;

(i) Lingti Valley (fyxrh %vh)

(b) Yak breeding research station
AqH  Yol-1 Mg <=

(i)  Kugti (dixrh)

(c) Goddess Mathi
noh ekFkh

(iv) Jaitak (trd)

(d) Historical place in Sirmaur district
fljekj dk ,d ,frgkfld LFky

(e) The last inhabited village of Bharmaur
Hjekj dk vire clk gvk xko

Codes:
dv:

A

B

C D

() —e (i) _ b (i) - a

(iv) —c

(iv) — d

M _c(ip)-ai)—e | ()_cQi)_adi)_b | ()b i) —_a/i)_e

(iv) —d (iv) - ¢

85

Match List-1 and List-11 and select the correct answer from the codes given below.
Iph&l vkj Dph&Il dk feyku dji vkj uhp fn, x, dvVk e: I Igh mRrj puA

List-1
Iph&I

List-11
lph&II

() Jwalamukhi Treaty
Tokykel[kh dh Bf/k

(@) Boundaries between India-Pakistan were

finally demarcated
Hkjr ikfdLrku di e/; Bhek dk Bhekdu

(i) Dar Commission
TR HHITHE

(b) To examine impact of the Quit-India
Movement in H.P.
Hkjr NkMk vknkyu dk fg0 10 i1j iHko dk
vkdyu dju gr

(iii) Dhalog Battle

(c) Ranjeet Singh and Sansar Chand
j.kthr flg vkj Lilkj pn

lkykx ;D)
: : (d) Examine the states on linguistic basis
(iv) Shlmlaﬂ(iggi?rence T T <rout 1 ahET

(e) Raja Janardhan and Raja Jagat Singh
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Jktk tuknu vkj jktek €xr fllig

Codes:
dv:
A B C D
() —c(i)—a(ii)-b () —a(ii) —e (iii)—c (i) — c (ii) — d (iii) — e (i) — ¢ (ii) — b (iii) — d
(iv) —e (iv)—d (iv) —a (iv)—e
86 | Which of the following trees are known as ‘Champions of rocky mountains’?
fuku e I dku I ofkk dk "pfEr; B vkQ ekmvu' (igkMk d Ljek) dgk tkrk g\
A B C D
Pinus Gerardiana Pinus Wallichiana Pinus Roxburghii Cedrus Deodara
ikbul €jkiM; kuk BESRIGIRIKCIE tkbul JkDIch fAIMJ D fn;knkjk
87 | Match List-1 and List-11 and select the correct answer from the codes given below.
Iph&I vkj Dph&II dk feyku dji vkj uhpi fn, x, dVk e I Igh mRrj puA
List-I List-11
Iph&I 1ph&IT
Folk songs and dances District
ykdxhr ,0 uR; fEyk
(i) Suhi (@) Mandi
Igh e.Mh
(i) Gangi and Mohana (b) Sirmaur
XX ,0 ekguk fljekj
(iii) Panj Bahada and Devku (©) E”ﬁpiu.r
it&igVk vkj nod yin
(iv) Kharait and Ujagjama (d) 5$”u
[kjr ,0 mtxtkek Y
(e) Chamba
pEck
Codes:
dv:
A B C D
(i) —e (ii) —c (iii) — d () —c(i)—e(iii)—b (i) —e (i) —c (iii)) —a (i) — b (i) — e (iii) —a
(iv)—a (iv) —d (iv) —d (iv) —d
88 | Which of the following districts are among the six clusters of H.P. sanctioned by the Ministry of
Rural Development, Government of India under National Rurban Mission?
futufyflkr et I fg0 10 d dku L fty mu Nt Begk e I gl &k Hkjr Djdkj di xkeh.k fodkl e=ky;
Fk gjk'vh; #jcu fe'ku (NURM) d fy, Lohdr g\
A B C D
Kinnaur, Solan and Una, Bilaspur and Hamirpur, Kullu and Sirmaur, Lahaul &
Mandi Sirmaur Kangra Spiti and Bilaspur
fdUukj] Bkyu vKkj e.Mh AuK] feyklij vkj gehjij] dYy vkj dkxmk | fhjekj] ykoky&fLifr
fhjekj Vvkj feyklij

89

Match List-1 and List-1l and select the correct answer from the codes given below (as per the
2010-11 census of H.P.).

Iph&I vkj Bph&IT dk 2010-11 dh fg0 10 dh tux.kuk d vk/ikkj 1j feyku dji vkj uhp fn, x, dvk
e I Igh mRrj puA

| List-| |

List-11 |
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Iph&I 1 ph&IT
() The average land holding size (@) 1.9 Hectares
vkl r Hde /kkj.k (tkr) vkdkj 1.9 gbV;;j
(i) Total land holdings belong to small and
marginal farmers (b) 88.86%
NkVi vkj Bhekr fdBkuk dk Hde (ttkr) 88.86 ifrkr
vkdkj
(i) Land holdings owned by semi medium
& medium farmers (c) 0.30%
vk el;e vkj e/;e fdlkuk dh Hkfe tkr 0.30 1frrkr
ekfy dkuk
(iv) Land holdings belong to large farmers (d) 10.84%
cMi fd Bkuk d' LokfeRo okyk Hk&ttkr 10.84 ifr kr
(e) 0.95 Hectare
0.95 gbV;;
Codes:
dv:
A B C D
(i) —a (ii) — b (iii) — d (i) —e (ii) — b (iii) — ¢ (i) — e (ii) — b (iii) — d (i) —a (ii) — c (iii) — d
(iv) —e (iv) —d (iv) —c (iv)—b
90 | Match the following combinations in terms of Plan outlay for the year 2020-21 and select the
wrong one:
fg0 10 di 0'k 2020-21 d ;ktuk&ifj0;; b BEcfl/kr futu Ni;ktuk dk feyku dji ,0 xyr L;ktu
PUA
() Agriculture and Allied Services 1334.89 crore
df'k ,o IEc) Nok, 1394.89 FIE
(ii) Energy 499.57 crore
mek 499.57 FIIE
(iii) Transport 974.29 crore
ifjogu 974.29 FIIE
(iv) Social Services 3487.24 crore
Lekitd ok, 3487.24 FE
A B C D
(i) and (iii) only (ii) only (iii) only (ii) and (iv) only
doy (i) vkj (iii) doy (ii) doy (iii) doy (ii) vkj (iv)
91
Movement Organization Leader
Bl ST 7qT
1. All India Anti-Untouchability League Mahatma Gandhi
aTeq AT sregeTar o HETHT et

2. All India Kisan Sabha
o o o
AT HATLAT TehE T A1

Swami Sahajanand Saraswati

o hd o
eqHT dgvllda diedqq]

3. Self Respect Movement
HEHTH HFATE AT

E.V. Ramaswami Naicker
2 7. THTEETHT AT

Which of the pairs given above is / are correctly matched?

ST ¥ T A T AIST Tgl &1 F 4 @Il 5 / 82

Page 18 of 24




A B C D

1only 1 and 2 only 2 and 3 only 1,2and 3
a1 A 1 307 2 AT 2 X 3 1,233

92 | “Atal Innovation Mission’ is set up under the ......

‘STt AT e fohereh dga Tataa BT T 82

A B C D
Department of Science of | Ministry of Labor and Niti Aayog Ministry of Skill
Technology Employment Y s Development and
EICULEIRCEIRS ST T TSR HATAS Entrepreneurship
ENEREEILIC R
ERIESIREIGR]
93 | Surface Ozone is produced from...............
TR AT T ICATET v HIare |
A B C D
Transport sector Cement plants Textile industry Chemical industry
EIECECECE] e e FIST AT AT ST
94 | Which of the following is / are a criterion for determination of Parliamentary Vulnerable Tribal
Groups (PVTGs)?

Aaforfed § & Fid 99 A ST aqgi (PVTGs) F Heiwor & o uF Jr9Es g?

1. Extremely low literacy
qgd FH AILTLAT

2. A subsistence level of economy
FIFET T T Haig T

3. A pre-agriculture level of technology
T T IF F1Y TqC

4. Zero or negative growth of Population
STHEEAT %1 ¢ AT ARLICHT T

A B C D
1 only 1,2and 3 2,3and 4 1,2 3 and 4
FAA 1 1,283 2,334 1,2,3374

95 | With reference to SDG India Index, which of the following statement is correct:

T 1 of SR S 3w 3, v # i # A A g

1. It supports States to identify priority areas in which they need to invest and improve by
enabling them to measure incremental progress.

g ST ol ITATHRAT ATl &A1 ol TgaTH Fld o (o7 THAT FAT g orH Ivg Fragof e
ST 0 AT o o7 9eqs e [Meer 3 U1 FT ol aeddl gial g |
2. ltisreleased by Niti Aayog.
PR UG RN E IR R
3. Index ranks all states and Union Territories for each SDGs.
AT TAT TASIS o (o0 FHT TAT 37T g AT T I I Far g |
4. India Ranked 110" in SDG Index 2020.
AT UHS ST gaahis 2020 § 110 o ¥ 9T 72T |

A | B | C | D
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1 and 2 only 2 and 4 only 2 and 3 only 1,2and 3

Faq 1T 2 FA 2 AT 4 T 2 3T 3 1,23¥ 3
96 | Consider the following phenomena:
et searst o fF=m &3
1. Light is affected by gravity.
TRTET [EATHY T | TATAT 2rar g |
2. The Universe is constantly expanding.
T[S ATA FAFaR FX @I |

3. Matter warps its surrounding space-time.
HeX I ATITH & TIH-ST5H &l (GFhd Far g |

Which of the above is / are the prediction / predictions of Albert Einstein's General Theory of
Relativity, often discussed in media?

IULE | T FI ode Ml o STee ST 3 eATelael i Aasaaroft / afesgaroEar s,
ST st =T & = =1 it JTar g2

A B C D
1 and 2 only 3only 1 and 3 only 1,2and 3
Fad 1T 2 Had 3 F 1 3T 3 1,237 3

97

The World Health Organisation (WHO) has designated the year 2020 as the ‘Year of the Nurse
and midwife’ in honour of the 200" birth anniversary of ............

oo T T3 (WHO) 7 99 2020 T 200 AT ST o IUaed § ‘99 T a2 &1 a9 & &9 §

TRA T .
A B C D
Florence Nightingale Mary Cronk Floreta d'Ays Ina May Gaskin
FAE AT AL FHIAH AT SO AT | e

98

Which among the following has been recognised as a World Heritage Site by the United Nations
Educational, Scientific and Cultural Organization (UNESCO)?

oo & & o 5<h g ATers, ST ST et S (TAhl) 3T fad foma =«
& § HTEAT &1 T8 87

A B C D
Luzon Island Hispaniola Island Borneo Island Lamu Island
TS 5T IEREUEEIEIRER FrfeaT 2 KGR

99

Who among the following hosted ‘The Virtual G20 Leaders’ Summit to discuss the challenges
posed by the outbreak of the Covid-19 pandemic and to forge a global coordinated response?

HITAe-19 HETHTIT % ThIT F S ATAT AT T FAT HL 6 [o7T T AT qH{ead STraimar
o o fore Referfea T agera sft 20 <fed affe &t Asart e 2

A B C D
Salman Bin Abdulaziz Al King Hamad bin Isa King Norodom Sultan Hassanal
Saud TSI 2HS EClE:l Sihamoni Bolkiah
FATTH oI STegaetsiis T TetT T | gear gade areshd
AT H&<
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100

Matteo Pellicone Ranking series was held in which of the following countries in March, 2021?

HT= 2021 § Referfed @ & e 2or § wrear afernia I e st i g o2

A B C D
Poland Rome (Italy) South Korea Japan
T T (z=) Ffeyor AT ST

*hkkkk
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SPACE FOR ROUGH WORK / T% % & ferT &1
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SPACE FOR ROUGH WORK / T% % & ferT &1
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ST T AT Tg THAT [EqHT @A I 7 Fgl S0 qd qoh F @t
AT IIRdHT TR
T ATHETT TR 0T GaeT TEEAT il T TEqhT a
qHT : qA HAee qoTie : 100

10.

11.
12.

e

Tt TEEAT TET S F qOd a1g, 3T T8 T GRAHT £ TSarer 7797 w2 o 5 2o w1 fa7 5w, %er a7 ger gan

I STAAT AT TS T &7 | T(S VAT 8, AT H Al TeA0 [RAHT & Fae Aoy |

FOAT €T ¥@ {3 3. TH. . STA-T5F ¥, I=a TIF 9T, AR 767, 362 Fahele AHA A, B, C T D lIT T HE&AT &,

e | ud oA R T A1 et F W oiT Feag F A SoeRer seHiEa # § | SFiEa g e |9,

A FaL AT TAT 6 TAT FTedg & HIEU IAL [EAHT & &6 [0 T ST | S ¢ TS T2 T ST IA-TTH AT

AT Al (AT STTOAT 3 39 &g A / |t & e s |

TH I IRAHT 9 917 | QU T0 F7gF H SAIET AUAT AUAT A

A for@=T T aeAr qiEdet 9% i Fg 7 ford |

TH T qEawT § 100 weaier EaT oY st I § g9 8 | T4 I § 9% T 797 (399) [uaw g | =85 a9 s

TIAY (ITT) F A o, IS0 AT IAL-T3% 97 3{Thd FTAT A18d & | IS SAIhT TAT o170 o6 U | Afgw I (3T9)

TRl &, T7 39 T (ITX) T AThd FY ST ATTHRT FATTH o7 |

AT ST T AL (ITY) AT | &0 70 ITL-T5F U2 ¥ Tohd F7 8 | IAL-00 ° 3w 7w fAaer 3T |

aft ol o i FHTE R |

THH g o ST qEreqvr qeaent & AT Tl & Ty (STY) SAL-T T SThd HLAT 9% HY, ATTHR SISTATE (1T

T JA9T I H & TS T2 F Aqa Fg Faor ST H 3T ¢ |

AT S AT TN AT AL TAF | AL o qTE TAT TEEAT o FHTIAT T hael o IAL TAH (HeqF A |19 & | STeh!

O AT TEHEAV REAHT ST STAL-TTF 6l SFHIGATT T o ST il AT 2 |

g FTH & 70 T & T § o7 2 |

T I & U dE

FEIY T T § SHIEAT FIT 120 10 7erq 39 o oy & fam Srem |

(i) 9T T % oI A Jafeqs 3T &1 SFEATE g1 Y& T & v & 77 s Teq 3% & e w7 gq =
3T 7T SRt 7 U ATATS ST F T H FHTET AT

(i) =% e st uF F afew S92 3qT 8, IS Tod S AT ST, A=Y 7w T 39w § § U 397 agraer
&, T ofF 39 w1 & forT STRa &1, ST a¥g &7 &€ T S |

(ifi) =fe ST g7 AT T T AET AT ST & AT IR g S g1 AT v 2, /0 39 9 * oy g
3= T fRar ST |

(iv) IfE TF T7 F AT qhfods I | F TF Tal & a7 a7 AT ATIF I Tl & qf ST STHIGATE o Jal IqU | 9
et U AT Feag T, I8 39 T & o0 safed s ar o ST |

T W o Torw S o Agt faT so |

T o SIS Y R Henun § 97 T2 foheft o faeriar & araer #,30sh SEh0r &7 Het SiiY Sifas arersmnm |

ST T SATTHT Tg THEAT [EqHT @I &l T Hgl S0 qd T F @ret

€T & : SULIH AL T SIS AL 7 RAHT & FETS T AT ¢ |
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